Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. ) ", “Max. Marks: 100

Note: Answer any FIVE full questtons, choosmg ONE full questwn from each module.

1 a.
b.
C.

2 a
b.

3 a
b.

4 a.
b.

5 a
b.
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| Module-1 o
With a neat block diagram, explam the architecture of 8086 (10 Marks)
Explain the flag register of 8086 microprocessor. (05 Marks)

Assume that Sp= 1236/ Ax = 24B6. DI = 85C2 and ‘DX = 5F93. Show the contents of the
stack for each of the followmg instructions are executed

PUSH DX

PUSH DI ) P

PUSH DX. { s s ' (05 Marks)

OR
Explain the followmg addressmg modes
1) Register Indirect ‘
ii)  Base relative
iii) Indexed Relative
iv)  Based Index Relative &y a
v)  Immediate. 'y o ' (10 Marks)

o ¥
B
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What is an assembler directives? With example explaln the following assembler directives:

i) Assume i) ORG  iii)db 1v) EQU Pa (10 Marks)
Module-2 o

Describe the followmg 1nstruct10ns ‘with example: %

i) LEA~ 1) XCHG iif) DAA iv) MUL .~ v) ADD. (10 Marks)

Write an ALP to convert packed BCD to ASCII conversion. (10 Marks)

OR ..

Explam shift and rotate mstructlons ¢ Y (12 Marks)

Write an ALP that' adds four words of data and stores the result. (08 Marks)
Module—3

Explain the followmg mstructlons w1th examples:

iy CBW  ii) IDIV iii) CMPSB iv) XLAT  v) MOVSW. (10 Marks)

Consider 4 bytes of hexa dec1ma1 data 25H, 62H, 3FH and 52H.

i)  Find the checksum

ii)  Perform checksum operation

iii) If62H is changed to 22H show how checksum detects error. (10 Marks)

1of2



10

IS

17CS44

OR Y :
Differentiate between memory mapped I/0 and I/O mapped I/O. (08 Marks)
With a block diagram, explain 8255. h (08 Marks)
Write the control word register of 8255. T, (04 Marks)

Module-4

Explain with neat diagram of ARM core reglsters bank in detail. (12 Marks)
Explain the typical embedded system soﬁware in detail. 4 " (08 Marks)

OR
Explain the interrupt vector table of’ ARM core and also explam the steps taken by ARM
core when exception/interrupt Qccurs \ (10 Marks)
Describe various modes of operations of ARM processor. .~ (10 Marks)

Module-5
Explain the following; ARM instructions with example
i) MVN i) RSB iij)ORR iv)MLA v)LDR. _ (10 Marks)
Explain the arithmetic instructions of ARM ‘ CMKIT LIBRARY (10 Marks)
¢ oL BANGALORE - 560 037

OR:

Describe load multlple and store multlple instructions of ARM processor with example.
(10 Marks)
With, example explain SWAP instruction of ARM. (04 Marks)
Explain the different barrel shifter operations. A, (06 Marks)
K %k A& ok kL
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